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Cp2af~ 95187
= 24712
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HEQO| 52 FAY, FHd, BRY S ES A pSie 2008.06.27
2872t 2013.06.27 ~ 2013.09.26 =27|7t ﬂg;iffg{g%
RHit2 & 2| AL EYAERHIREF) HETH A 2| AL oA
mhof 3| Ab www.trustonasset.com UBIALR 22| 3| A Q| gHH E MH| A
LEFR A2l 60% O| &2 =L FA 0| FAtSHY KOSPL X|=0| =9l &8 XWdl= FA =& ZH& F7dl=
EXHAERL|CE
ARG S THAF e 4T F o] HELX| 0, AE SEO fAT XM E 28311, In-house research
c== e (RIAL Ul B|MX| ZZ2)E HIZCZ HA|ZH 241t Bottom-up 24787 E4)2 HAGHO, F7|H2 2
ZHKE HSAMZE = Ue 7S ME, 24510 LHXHZHK] Ofstofl A S AtghL|C.
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(EH9l: A, %)
HEZH 25 Mol g SUE
RHAE Z0H (A) 605,551 601,361 -0.69
Eaasn| Azt Hij = (B) 2,435 43,939 1704.60
= = «=XtAtESOH (C=A-B) 603,116 557,423 -7.58
SEFMUREA) Y 0l= & 4 (D) 655,697 527,680 -19.52
7|Z= 7425 (E=C/Dx1000) 919.81 1,056.36 14.85
S&7(Class)E 7|&=7t4 2%
A 7|&=7HA 888.41 1,016.18 14.38
C1 7|1&7H4 878.64 1,003.56 14.22
2 7|1&7H4 879.95 1,005.48 14.27
a3 7|1&7H4 882.53 1,008.69 1430
c4 7|1&7H4 884.95 1,011.73 1433
cs 7|&=7HA 1,029.02 1,143.48 14.35
Ce 7|1&7H4 883.40 1,009.97 1433
w 7|&=7HA 905.12 1,037.51 14.63
Cp 7|1&=7t4 889.06 1,017.04 14.39
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(Er9l - %)

T =2 3718 =2 671 & =2 9718 A2 1270
ERAENT|AZ
S At Al AL 14.85 547 6.90 7.70
H| D X| 48 X| O} 2) 12.55 1.19 1.26 1.36
(H| K| CfH] A3p (2.29) (4.28) (5.63) (6.35)
&5 (Class)d 3%
A 14.38 456 553 5.89
(H| K| CfH] A3p (1.83) 3.37) (4.27) (4.53)
c1 14.22 4.24 5.06 5.37
(H| K| CjH] A3p (1.66) (3.05) (3.80) (4.02)
2 14.27 430 5.15 5.39
(H| K| CfH] A3ph (1.71) (3.11) (3.89) (4.04)
c3 14.30 439 5.27 5.54
(H| K| CfH] A3p (1.74) (3.20) (4.01) (4.19)
ca 14.33 446 5.37 5.67
(H| X2 TjH| A1p 1.77) (3.27) (4.11) (4.32)
c5 14.35 452 5.46 5.78
(H| X2 TfH| A1p (1.80) (3.33) (4.19) (4.43)
Ce 14.33 446 5.38 5.67
(H| X2 TjH| A1p 1.77) (3.26) (4.11) (4.31)
W 14.63 5.05 6.26 6.85
(H| X2 TjH| A1p (2.07) (3.86) (4.99) (5.49)
Cp 14.39 459 5.57 5.94
(H| X2 TfH| A1p (1.84) (3.40) (4.31) (4.58)
I 14.62 503 6.23 6.82
(H| X2 TjH| A1p (2.07) (3.84) (4.97) (5.46)
H| I X| 28 X| O} 2) 12.55 1.19 1.26 1.36
CDSC X 8HE &3t A&
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c5 5.78 - - -
(H| W X|4= CiH] 43t (4.43) - - -
Ce 5.67 28.08 15.86 -
(H| W X|4= CHH] dah) (4.31) (6.62) (7.16) -
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Cp 28.81 16.97 -
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H| T X| 2= (8l K| O 3) 21.46 8.70 35.97
CDSC §SHE S8 +28
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H| T X| 2= (8l K| O 3) 21.46 8.70 35.97
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X9 EXHAAES 1A HatE LIEPE & 0j2fo| 2 8dutE A= A2 ot L|Ct.
AL =1 5
W &ovig
(Er9| : wiBte)
= TFAHAFEE E
7 ¥ =z TOEE N peu [_TINEEIHER] i | sy
A = Ly el HEXHAH 7|EF ol =
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3. Xjoteigt
LR EE
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(Bt - DR, %)
7| =7
T =% Hl& = H|&
RFALR 2 AF 130 0.19 111 0.19
THOY S| AL 212 031 181 031
XY AR 2ES| AHAL EFA XD 5 0.01 4 0.01
QUHFAFR T 2| 3| AF 3 0.00 3 0.00
< EES 351 0.51 299 0.51
7|EfH| 8** 0.00 0.00
ooy - S5 0.00 0.00
EX e 0.00 0.00
K2 A 99 0.19 108 0.19
THOR S| AL 145 0.28 159 0.28
XY A 2ES| AHAL EFA XD 4 0.01 4 0.01
QUHFAFR T E| 3| AF 2 0.00 2 0.00
c 223517 249 0.48 274 048
7|EHH| 8** 0.00 0.00
ooy - S5+2 0.00 0.00
EX e 0.00 0.00
KFAHS 2 AF 0.19 17 0.19
THOY S| AL 11 0.25 22 0.25
HE XY A 2| AHAEFRARD 0.01 0.01
s UEIALE 22| 2| Ab 0.00 0 0.00
2317 19 0.45 40 0.45
7| EfH| %+ 0.00 0.00
ool - S8 0.00 0.00
EE R EL 0.00 0.00
KA 2 A} 23 0.19 22 0.19
Oy S| A 34 0.28 33 0.28
 C Xj A 2ES| AHAL EFRA XD 1 0.01 1 0.01
- QUHFAFR 2| S| AF 1 0.00 1 0.00
EES 59 0.48 57 0.48
7| EfH| %+ 0 0.00 0 0.00
ooy - Sz 0 0.00 0 0.00
EE e 0 0.00 0 0.00
KALS 2 AF 5 0.19 7 0.19
THOY S| AL 0 0.00 0 0.00
HET] o 2ES| AH(A EF AR 0 0.01 0 0.01
W UBIALE 22| 2| A 0 0.00 0 0.00
2B 5 0.20 8 0.20
7| EfH| %+ 0 0.00 0 0.00
ooy - Sz 0 0.00 0 0.00
EE e 0 0.00 0 0.00
KAHS A 2 0.19 2 0.19
THOY S| AL 2 0.21 2 0.21
HET] o 2ES| AF(A EF AR 0 0.01 0 0.01
o %t&kﬁfﬁlﬁw 0 0.00 0 0.00
25 3 0.42 4 0.42
7| EFH| & ** 0 0.00 0 0.00
ooy - Eofazi 0 0.00 0 0.00
e 0 0.00 0 0.00
KAHS A 289 0.19 254 0.19
ThOy S| A 12 0.01 10 0.01
T XY AR 2ES| AHA EFRARD 12 0.01 10 0.01
I UHEALR 22| 3| A 7 0.00 6 0.00
25 319 0.21 280 0.21
7| EFH| & ** 1 0.00 1 0.00
ool - S8 0.00 0.00
SHAEA 0.00 0.00
* HEO| &=XtAHE (7| ZHE T CHH| Bl
** J|EtH| 80| 2t 2| A ZAIH|E, B 52| 0E X AXH|E 5 HEOM A4 -HEXNoZ X|FE HE22M Uj0f-Z/Hs+2& Mot AYLCH
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SE 4 - H8H[E(A) oo - S74=2 H|E(B) A (A+B)
Ea|AER 7| AT 7| 0.0005 0.2348 0.2353
SHERLE[FA] = 0.0006 0.2485 0.2491
ZHF(Class)d ozt
7| 1.7002 0.2357 1.9359
A | 1.7002 0.2497 1.9499
o 7| 2.3001 0.2558 2.5559
=] 2.3002 0.2566 2.5568
o 7| 2.1502 0.2242 2.3744
=] 2.1501 0.2463 2.3964
c3 7| 2.0202 0.2385 2.2587
| 2.0202 0.2517 22719
o 7| 1.9002 0.2409 2.1411
=] 1.9002 0.2465 2.1467
o 7| 1.7996 0.236 2.0356
=% 1.7998 0.249 2.0488
7| 1.9369 0.2349 21718
ce o 1.9092 0.2489 21581
W 7| 0.8 0.2268 1.0268
=] 0.8001 0.2392 1.0393
7| 1.65 0.2341 1.8841
cp o 165 02503 1.9003
1 7| 0.8301 0.2331 1.0632
=] 0.8301 0.2465 1.0766
1) 5245 &H|S(Total Expense Ratio)0|2r 2 8E 4 S HEO|A LESHE B4'0t 7|EIH[E SUS 2AHM HFTAY(HS-H|S YT 7|F)
o= Ui BN BT 2877 B ERAIL HES & wa-H84FS LIERL|CH
ZF2) Ojof- F7==5 H|Z0|2t OjOf- BB E =Xt HETIA(E-H|E XL 7|F)2E Lhe HEEN oY 287|7F & FXAt7L £Eo
ojoi- 574 s=+=22| =& LIEHL L CL
6. SXFXAL OHOH LY 2
W OjojFEApE 3 2|HE
(] - SRR, %)
of = 0= Ofof 2| M 2 =)
2 =4 2 =4 S|zt lotit
1,779,081 120,819 4,366,368 256,565 40.74 161.62
F) oy 8|7 F O3 FATAO] BEHZ T T REI|ZL E ERT T HAVIHOE LHE H|E
W %2 3&27| 0joj2| Mg 30|
(] : %)
1211290272 ~131903226Y 1303272 ~13H062426Y 13062272 ~131H092262
42.64 23.16 40.74
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